

7A sikig

$-(x+y) = \frac{y+z}{4} = \frac{z+x}{3} \neq 0$ のとき, $y = \square$ で $\frac{x^2+y^2+z^2}{xy+yz+zx} = \square$ である。
[玉川大]

$$\begin{cases} -x-y=k \\ \frac{y+z}{4}=k \\ \frac{z+x}{3}=k \end{cases} \quad \text{とある}$$

$$\begin{cases} -x-y=k \dots ① \\ y+z=4k \dots ② \\ z+x=3k \dots ③ \end{cases} \quad \begin{array}{l} ①+③より \\ -y+z=4k \\ +) y+z=4k \\ \hline 2z=8k \\ z=4k \end{array} \quad \begin{array}{l} z=4k \text{ かつ } y=0 \text{ ならば} \\ x=-k \end{array}$$

$x=-k, y=0, z=4k$ ならば

$$\frac{x^2+y^2+z^2}{xy+yz+zx} = \frac{k^2+0+16k^2}{0+0+(-k)\cdot 4k} = \frac{17k^2}{-4k^2}$$

$$\therefore \underline{\underline{-\frac{17}{4}}}$$